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Question # 18 [by Hafiz Syed Rizwan (FSc, Session: 2007-2009) Punjab College of Science, Lahore.]

_ tan@+secd—1
LHS = tand —secl +1

xing and +ing by tan @+ secé

_ tanl9+secl9—l>< tan @ +sec @
~ tan@—sec+1" tanf+secd

B (tan @+ secd—1)(tan @ +secd)

~ tan’ @ — tanOsec & + tan O + tan Osec & —sec’ 6 + sec O

(tan@+secd—1)(tan O +sech)
tan® @ —sec” @ + tan @ + sec §

(tan @ +secd—1)(tan 6 + sec6)
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» 1+tan’ @ =sec’ @
- tan’@—sec’f=-1
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If you have any alternative solution then you can send us at Admin@MathCity.org
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